Jalaill :ayilill 63agll

£-Y Gybad

:_u;:(w)% Tt et = T Tt = e (1 ()
(84 0e)(F + ou Y — Toa¥) = () € *—uﬂ—*w‘h"u%j
Y 4 Y = T+ T = () () = st s w—wvz:g‘;'j
(G

Y—u,uY"FYu.ud\:(uu)’.\ 0 Y

\0—'u~;+“w;:u4

T e A= (00) :
0+ 7Y Y:u‘;
Y Y - - L_)-“s

Yi=¢+ (Y)Y + (V)Y +"(Y)=(¥)s 0 (¥
N o+ g =02's
A EVEIE SV = e T s
o oo V=(0e)'s s g

YoV + eV =Y = c
WY +(V)e+ (Y =(Y)> - .

) Tt — el 4V - =02
t+ el = () € '39\ o s s
’" - i - :L)AYS
M= (1)1 = (1) P (oA = WV sTow tA =T =6

o s
V4 ool V=Tl + T A = o ("9 v VAT Y = o 2
— L oY =

VY — L) s+ T = 022
g g oS j V+wi=—uaj
‘d o

K +u.ui/\‘" P § = quS
o Vu.uS
u.u\v+vu,uqz(u.u).5 2

b~ A

)
o = py o !
v ‘A o \V+"u.u?:(u.u)é
YL)‘“A—FVL)‘“%:(L)"')A ol u.gOZ(u.u)”J
q _ )
G T = ()3 ot T 1 = () B
°\ 12
YU+ oo = (oe)'o ! ,
Y ( ) ZU"'O+YU"'?_:(U"')J
\’:L).u”é )
( ) va.+vw?_=(u‘) A
v—n+w%
Cod = A= (e)s 3
- ) v o (G
(M=) x T g



Jgdll Jualpall Jaall - pise pilidl canld dpmbudll calialdl

Tow = Yol e =Y = () (T (8 Vot = Te A = (o)
oY = el Y= = (L) oot = (o)
ST () ot T T = (3
/\:(T)”A Yu.u\Y—u.u\.\-FY:(u.u),d
- TE == ()
YAy (0e)"" 2= (o) "2

A 1
sz loxvoir @ os¥E = V= - T
wi—uu-\‘i‘*—:(w),ﬁ YY:L)’U-\’

—_

=) = (V) + Y= = (1) L

Y-1-Y-= '%\ o0+ Tl =TV = e (8

B

V- = P 0+ LulY = oY) = 22
L)JJ
(M- (Ne+(M)¥=0= i 9 w-wz\':f”S
s
VA = VY0 4 = ; <
) oA =222 y= e
Yy ’ TS
Y < g o=
vw?—vu.u\O‘i‘ Y ua (\ - Y(J“’S
wa_wvy:wss ¢ =Y — AL
. AL — 8 -
§ vy 02’5 ¢ = =
o s Y_
0xt—Y =222 0= e (Y
\‘uus



